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main_0l.c

code

#include <stdio.h>
#include <regex.h>

int main(void) {
const char regex[] = "~(070]|080|090)-[0-9]1{4}-[0-9]1{4}3$";
regex t preg; char str[20]; regmatch t pm[1]

if(regcomp(&preg, regex, REG EXTENDED |REG NEWLINE) != 0) {
printf("regex is not aviable.\n");
return 1;

}

printf("EFEBSEANLTLLEIW \n"); scanf("%s",str);

if(regexec(&preg, str, 1, pm, 0) == 0) {
printf("ANINEFEESIEIHADEFTEFEESTT. \n");

} else {
printf("ANINEFEESIIHAOETEFEESTIEHY A \n");

}
regfree(&preg);
return 0;
}
result

Test 1 passed
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Test 2 passed
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. Passed: 2

. Failed: O
main_03.c

code

#include <stdio.h>
#include <regex.h>
#include <string.h>

int main(void) {

const char regex[] = "(070|080|090)-[0-9]1{4}-[0-9]{4}";

regex t preg;

char str[] = "$HI3090-7623-87655CICEBFEAMNTE LA, #EEHFEFEATLE., ZRLR
L Thoge@domain.jpAiEEL TEFA—IE2ZEY FLENRELNHY FHA. AREFESTH5029-
271-2800ICBEEMTLE T2 , ARENEHEICHF L., RREFICEFA LT RLRZFREED
% ,daihyo@hogehoge.com&DZ &ETLAE.";

regmatch_t pm[1];

if (regcomp(&preg, regex, REG EXTENDED) !'= 0) {
printf("regex is not available.\n");
return 1;

}

const char *p = str;
while (regexec(&preg, p, 1, pm, 0) == 0) {
printf("BF&ES : ");
for (int i = pm[0].rm_so; i < pm[O].rm_eo; i++) {
putchar(p[i]);
}
printf("\n");
p += pm[O].rm_eo;

}
regfree(&preg);
return 0;
}
result

Test passed
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. Passed: 1
. Failed: 0

main_04.c

code

#include <stdio.h>
#include <regex.h>
#include <string.h>

int main(void) {

const char regex[] = "[a-zA-Z0-9. %+-]+@[a-zA-Z0-9.-]+\\.[a-zA-Z]1{2,}";

regex t preg;

char str[] = "$HI3090-7623-8765%ICEFEEMTE LD, HEEHEFFEATLE. 7 RLR
L Thoge@domain. jpEiEEL TEF A —IL&EZEY FLEMERELSHY FTHA. KREFESTH5029-
271-2800ICEBEEANMTILE 2 , RREVEFEICHF L. RREICBEFA LT RLR&FHFREED
% ,daihyo@hogehoge.com&dDZ &ETLA.";

regmatch t pm[1];

if (regcomp(&preg, regex, REG _EXTENDED) != 0) {
printf("regex is not available.\n");
return 1;

const char *p = str;
while (regexec(&preg, p, 1, pm, 0) == 0) {
printf("X—JL7 KL Z");
for (int i = pm[0].rm so; i < pm[O].rm_eo; i++) {
putchar(p[i]);
}
printf("\n");
p += pm[O].rm_eo;

}
regfree(&preg);
return 0;
}
result

Test passed
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